
Minusrechnen (bis 10 000)

Aufgabe 1

1. 2 737 - 1 430 =   

2. 7 696 - 2 562 =   

3. 5 202 - 2 877 =   

4. 7 820 - 5 110 =   

5. 4 295 - 3 827 =   

6. 9 491 - 8 585 =   

7. 8 638 - 2 628 =   

8. 7 266 - 4 372 =   

9. 3 364 - 1 179 =   

10. 7 088 - 4 515 =   

Aufgabe 2

1. 3 921 - 1 382 =   

2. 7 636 - 5 292 =   

3. 5 284 - 3 877 =   

4. 6 051 - 3 439 =   

5. 2 900 - 1 618 =   

6. 3 867 - 2 140 =   

7. 8 696 - 4 544 =   

8. 9 145 - 8 079 =   

9. 7 992 - 7 988 =   

10. 5 710 - 3 258 =   

Aufgabe 3

1. 3 779 - 2 855 =   

2. 9 898 - 2 344 =   

3. 9 238 - 4 220 =   

4. 8 140 - 1 289 =   

5. 5 741 - 3 260 =   

6. 5 016 - 2 101 =   

7. 4 834 - 2 252 =   

8. 8 569 - 5 799 =   

9. 9 976 - 5 775 =   

10. 8 030 - 7 918 =   

Aufgabe 4

1. 9 199 - 7 473 =   

2. 7 000 - 2 109 =   

3. 5 762 - 4 715 =   

4. 5 463 - 3 650 =   

5. 8 991 - 8 451 =   

6. 6 374 - 1 873 =   

7. 8 195 - 7 593 =   

8. 3 277 - 2 649 =   

9. 7 112 - 6 366 =   

10. 9 160 - 6 143 =   
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Minusrechnen (bis 10 000)
| ANTWORTEN

Aufgabe 1

1. 2 737 - 1 430 =  1 307

2. 7 696 - 2 562 =  5 134

3. 5 202 - 2 877 =  2 325

4. 7 820 - 5 110 =  2 710

5. 4 295 - 3 827 =  468

6. 9 491 - 8 585 =  906

7. 8 638 - 2 628 =  6 010

8. 7 266 - 4 372 =  2 894

9. 3 364 - 1 179 =  2 185

10. 7 088 - 4 515 =  2 573

Aufgabe 2

1. 3 921 - 1 382 =  2 539

2. 7 636 - 5 292 =  2 344

3. 5 284 - 3 877 =  1 407

4. 6 051 - 3 439 =  2 612

5. 2 900 - 1 618 =  1 282

6. 3 867 - 2 140 =  1 727

7. 8 696 - 4 544 =  4 152

8. 9 145 - 8 079 =  1 066

9. 7 992 - 7 988 =  4

10. 5 710 - 3 258 =  2 452

Aufgabe 3

1. 3 779 - 2 855 =  924

2. 9 898 - 2 344 =  7 554

3. 9 238 - 4 220 =  5 018

4. 8 140 - 1 289 =  6 851

5. 5 741 - 3 260 =  2 481

6. 5 016 - 2 101 =  2 915

7. 4 834 - 2 252 =  2 582

8. 8 569 - 5 799 =  2 770

9. 9 976 - 5 775 =  4 201

10. 8 030 - 7 918 =  112

Aufgabe 4

1. 9 199 - 7 473 =  1 726

2. 7 000 - 2 109 =  4 891

3. 5 762 - 4 715 =  1 047

4. 5 463 - 3 650 =  1 813

5. 8 991 - 8 451 =  540

6. 6 374 - 1 873 =  4 501

7. 8 195 - 7 593 =  602

8. 3 277 - 2 649 =  628

9. 7 112 - 6 366 =  746

10. 9 160 - 6 143 =  3 017
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